
Schoot Work.

3. Change the following compound
sentences into (z) simple sentences,
(2) complex sentences:

(a) The sea spent ils fury, and
then it became calm.

(b) The battle had been con-
cluded, and then the com-
mander began to estimate his
losses. (20)

4. Change the words in italics into
(i) phrases, (2) clauses.

Wire men think rightly. He
acts ?i.4sely. He speaks rapidy.
Take her up tenderly. (20)

5. Divide the following into sen-
tences and supply the necessary punc-
tuation marks and capitals:

the golden touch exclaimed he you
certainly deserve credit friend midas
for striking out so brilliant a fancy
but are you. quite sure that this will
satisfy you how could it fail said midas
and will you never regret the posses-
sion of it what could induce me asked
midas. (20)

HISTORY.

i. Who were the United Empire
Loyalists? Whef and where were
the first settlements imade in Upper
Canada? (ro)!

2. Name the Provinces that nôw
form the Dominion of Canada.
Which were the first to enter,? Under
what authority were they united ?
Name the Provinces that have since
been added, and givé dates of such
admission.- (12)

3. Who is the present Governor-
General? Who is'the present Lieu.
tenant-Governor of - Ontario? By
whom are they-appointed? (ro)

4. Write-short sketches of thelives
of any three of the-following persons :.
Governor Simcoe, Sir Isaac Brock,
General Wôlfe, Champlain J'acques
Cartier, Lord DTffërin. (1

5. Tell what you ýknow of the war
of 1812-14, -méntioniíg aniy incidents.

that happened in the county of Went-
worth. (ro)

6. Tell what you know of the Con-
stitutional Act of 1791. (1o)

7. Write brief notes on: (a) Our
Educa'tional System; (b) Out Muni-
cipal System; (c) How townships
are governed; (d) How, and by whom,
taxes are levied and collected. (12)

8. Write a short account of the
discovery of America. (ro)

8o marks a full paper.

ARITHMETXC.
i. Find cost of digging a cellar 48

ft. long, 30 ft. wide, and 6 ft. deep, at
2o cents per cubic yard, and flooring
it with Portland cement. at roc. per
sqqare yard. (ro)

2. Farmer B sold to a merchant the
following articles to apply on an over-
due atcourit of $54 45.:

168o lbs of hay @ $r5 per ton.
3, cords of wood @ $4.80, per cord.
4 bble. of apples @ $2.75 per bbl.
3-5o lbs. of flour @ $2 50 per cwt.
30 lbs., 1 'oz. butter @ x6c. per lb.

Make out the account neatly, show-
ing the balance and to whom' due.
(ro)

3. Find the value of r-7 + 5* +
-3- + 4 . (Io)

4. Multiply 33î by 25 ,, and divide
the product by 163. (ro)

5-.' How many feet of lumber in a.
plank 12 inches wide, 3 inches thick,
and -18 feet long. .(1,o)

6. What mukt be the width of a
box 6 ft. long, 4 ft. Sigh, to contain.

a cord of wood ? (io)
7. Ftorm a lot 8o'-odsesquare I sold.

8o square rods., 'What is the value of
the remainder at $8o per acre>? -(ro:

8. If n1:1 men -build a walt.:in, r8
days, :how-many men will it',take to
build-a wall three times as long:in half
the tirnei (xo)

- 9. If atrain movei. 48. feet in, a
second, 'what is :its rate in miles: per
hour ? '(zo)
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